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const int MAXN=2e5+5;

struct Edge
int to,next;

edge [ MAXN<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v
edge|++edge cnt].to=v;
edge|edge cnt].next=head|u!;
head|u/=edge cnt;

int d[MAXN]|,sz[MAXN|,f[MAXN|,dfs id/MAXN|,dfs t,inv id[MAXN];
int h_son/MAXN|,mson|[MAXN|,p[MAXN]|;
void dfs 1(int u,int fa,int depth
szlul=1;flul=fa;dul=depth;mson[ul|=0;
int i=head|u;i;i=edge!i].next
int v=edgel|i].to;
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dfs 1(v,u,depth+1);
szlul+=sz[v];
sz|[vi>mson|u
h sonlul=v;
mson{ul=sz(v];

void dfs_2(int u,int top

dfs id/ul=++dfs t;plul=top;inv_id|/dfs t|=u;

mson|[u
dfs 2(h sonlul,top);
int i=head(u];i;i=edge[i].next
int v=edge(i].to;
v==h son|u

dfs 2(v,v);

int lef[MAXN<<2|,rig/MAXN<<2|,v[MAXN<<
int Max(int x,int y
X[ty x|y;
dixl>dly X;
y;

void build(int k,int L,int R
lef/k!=L,riglk]|=R;
int M=L+R>>1;
L==R
s kl=vlkl=inv_id[M|,void();

build(k<<1,L,M);build(k<<1|1,M+1,R);

s kl=vlk|=Max (v k<<l|,v|k<<l] c

void push down(int k
lazylkl<
S[k<<l]=s[k<<1|1]=0;

, S| MAXN<<

lazy|k<<l|=lazy k<<l|1l]|=lazy|k]|;
lazy |k =0;

lazylk|>
S[k<<l]=v[k<<l],s[k<<l|1l]=v[k<<l|1];
lazy|k<<l|=lazy k<<l|1l]|=lazy|k]|;
lazy k! =0;

void update(int k,int L,int R,int type
L<=lef|k|&&rig|k|<=R
type<0)s k|=0;
s ki=vik]l;
lazy| k| =type;

, lazy [MAXN<<2 | ;

https://wiki.cvbbacm.com/

Printed on 2025/08/16 01:51



2025/08/16 01:51 3/11 ooo?2

push down (k) ;

int mid=lef|k|+rig/ k!>>1;
mid>=L)update(k<<1,L,R,type);
mid<R)update(k<<1|1,L,R,type);

s/ kl=Max(s|k<<l],s|k<<l| ;

int Find p(int pos,int dis
d/ pos|<=dis ;

true

dlpos|-d/plpos]||>=dis inv_id[dfs id[pos|-dis];
dis-=d[pos|-d[plpos! |+1;
pos=f[plpos]||;

int n,ans[MAXN];
int Count(int dis
int cnt=0,p;
true
s ;
p=Find p(s ,dis);
update(1,dfs id[pl|,dfs idipl+szipl-1,-1);
cnt++;

update(1,1,n,1);
cnt;

int main

~scanf("%sd",&n
edge cnt=0,dfs_t=0;

_rep(i,1,n
ans|[il=n,head|[1]=0;
_rep(i,2,n
Insert(read int(),1i);
dfs 1(1,0,0);

dfs 2(1,1);
build(1,1,n);

int i=n-1;i>=0;i--
ans/Count(1i) |=1;
_rep(i,2,n)ans[i|=min(ans(i],ans|1i- ;
LL sum=0;
_rep(i,l,n)sum+=ans/i/;
enter(sum);
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const int MAXN=2e4+5;

struct Edge
int to,next;

edge MAXN;

int head MAXN|,edge cnt;

void Insert(int u,int v
edge|++edge cnt|=Edge{v,head|u]};
head|u!=edge cnt;

bitset<MAXN>e|[MAXN|;
int dfn[MAXN|,dfr MAXN|,dfs t;
void p _dfs(int u
dfnlul=++dfs t;
int i=head(u];i;i=edge[i].next
p dfs(edgelil.to);
dfrlul=dfs_t;

int n,col[MAXN],cnt[MAXN];
int match[MAXN],cur[MAXN];
bool dfs(int u

curiul++;
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int &l=curul;i<=n;i++
lelul[1 ;
I'match(1i!||dfs(match|i
match[il=u,true;

false;
int main

n=read int();
_rep(i,2,n
Insert(read int(),1i);
p_dfs ;
_rep(i,1,n
col/dfn[i]|=read int();
_rep(i,1,n

_rep(j,dfniil,dfrii
cntfcollj]|++;
_rep j' N
cnt[jl&&ent[j*j<=n
elcnt[jl*j]l.set(i);
cntjl=0;

int ans=1;

_for(i,1,n
dfs(i

ans++;

.
’

enter(ans);

’
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const int MAXN=1e5+5,MAXM=30;
int a/MAXN|,lef[MAXN<<2],rig/MAXN<<2|,s|[MAXN<<2];
void push up(int k

sl kl=s|k<<l]&s|k<<l|1];

void build(int k,int L,int R
lef(ki=L,rig/ k!=R;

int M=L+R>>1;
L==R slkl=a[M],void();
build(k<<1,L,M);build(k<<1|1,M+1,R);
push up(k);
int query(int k,int L,int R
L<=lef|k|&&rig|k|<=R slkl;
int mid=lef|k|+rig/ k!>>1;
mid>=R query (k<<1,L,R);
mid<L query (k<<1|1,L,R);
query (k<<1,L,R)&query (k<<1|1,L,R);

struct Node
int ch ,V;
node | MAXN*MAXM*MAXM | ;
int root[MAXN], tot;
void update(int &k1,int k2,int lef,int rig,int pos,int v
kl=++tot;
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node|kl/=node| k2
node|kl!.v+=v;
lef==rig ;
int mid=lef+rig>>1;
mid>=pos)update(node|kl]|.ch ,node[k2].ch , Llef,mid, pos,v);
update(node|kl].ch ,hode[k2].ch ,mid+1,rig,pos,v);

’

int query(int k,int lef,int rig,int L,int R

Ik C
L<=lef&&rig<=R node k| .v;
int mid=lef+rig>>1;
mid>=R query(nodel|k].ch ,lef,mid,L,R);

mid<L query(nodelk].ch ,mid+1,rig,L,R);
query(node k| .ch , lef,mid,L,R)+query(node|k].ch ,mid+1,rig,L,R);

unordered map<int,int> last;
int main

int n=read int();
_rep(i,l,njalil=read int();

build(1,1,n);
_rep(i,1,n
root/i/=root/i-1];
int cur=-1,1lef,rig,mid, pos=i+1;
true
lef=1, rig=pos-1,pos=0;

lef<=rig
mid=lef+rig>>1;
query(1l,mid,i)!=cur
lef=mid+1;
pos=mid;

rig=mid-1;

I'pos
’
cur=query(1,pos,i);

last.count(cur
last | curl|<pos
update(root(i/,root(i!,1,n,last/cur], -
update(rootii/,root(i],1,n,pos,
last|/cur]|=pos;

.
’

’

update(root/i]/,root[i],1,n,pos,
last|/curl|=pos;

.
1
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int g=read_int(),l,r,lastans=0;
q__
l=(read _int()~lastans)%n+1,r=(read int()”~lastans)%n+1;
1>r)swap(l,r);
enter(lastans=query(root/r!,1,n,1,r));

gg 2
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const int MAXN=1e5+5,MAXM=30;
struct Node
int ch , Lazy;
node | MAXN*MAXM*MAXM | ;
int root MAXN]|,a MAXN]|, tot;
void update(int &Kk1,int k2,int lef,int rig,int L,int R
kl=++tot;
node[kl|=node[k2];
L<=lef&&rig<=R
node kl|.lazy++;

’

int mid=lef+rig>>1;
mid>=L)update(node|[kl].ch ,node[k2].ch , lef,mid,L,R);
mid<R) update(node|kl].ch ,nhode[k2].ch ,mid+1,rig,L,R);

int query(int k,int lef,int rig,int pos

Ik o
lef==rig node k! .lazy;
int mid=lef+rig>>1;
mid>=pos query(nodelk].ch , lef,mid, pos)+node k| .lazy;

query(nodel|k].ch ,mid+1,rig,pos)+node k! .lazy;

int zero/MAXM];

vector<int> b;

unordered map<int,int> last;
int main
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int n=read int();
_rep(i,l,n)alil=read int();
_rep(i,1,n

root/il=root[i-1];

b.clear();

_for(j,0,MAXM

alil&(1<<j
zerolj !>
b.push back(zero[j]);

zeroljl=1i;

b.push back(i);
sort(b.begin(),b.end(),greater<int> ;
b.erase(unique(b.begin(),b.end ,b.end ;
int cur=-1,lef;
_for(j,0,b.size
cur&=albljl];
lef=1last.count(cur)?last(cur]:0;
lef<b]|j
update(root|i],root|i],1,n,lef+1,bljl);
lasticurl=blj];

int g=read int(),1,r,lastans=0;
q__

l=(read int()”"lastans)%n+1,r=(read int()”~lastans)%n+1;

>r)swap(l,r);
enter(lastans=query(root(r!,1,n,1));

4[]JAncient Distance
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const int MAXN=1e5+5,Mod= ;

int alMAXN], f[MAXN],inv[MAXN];

bool vis[MAXN];

void get inv
inv =il
_for(i,2,MAXN
inv/[i|=1LL*(Mod-Mod/i)*inv|[Mod%i %Mod;

void get f
f =0,f[2]=4;
_for(i,3,MAXN
flil=1LL*i*inv[i-1]%Mod*(f[i-1]+1)%Mod;

int main

get inv();

get f();
int n=read int(),m=read int();
m--
int ans=0;
_rep(i,l,n)alil=read int(),vis|i|=false;
_rep(i,1,n
lvis|[i
int cnt=0,pos=i;

lvis|pos
vis|pos | =true,cnt++;
pos=alpos/|;

ans=(ans+f[cnt] )%Mod:

enter(ans);
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